DPEESR F2AERVEX F—LABFES
K4 OUT | IN [ GROSsS | HD NET K4 OUT | IN |[GRoss| HD | NET K4 OUT | IN |[Gross| HD | NET
O #H BE 36 34 10 |+1.2|171.2| [O == &= 44 46 90 [16.8 [73.2| |O| RH HxiE 41 36 17 14.8 |172.2
Pi KE 41 | 38 | 79 (2.4 |76.6| |[Of EmM 2»F 40 | 40 | 80 |4.8 [75.2| |O B# @H= 45 | 45 | 90 |13.2 | 76.8
O Pk #KE 43 36 719 |3.6 |75.4| (O KH BE= 39 44 83 [9.6 [73.4] |IO EZE —XA 52 44 96 (22.8 | 73.2
O #w’A HFE 39 36 15 (2.4 |72.6 #H V2 53 45 98 (19.2 |78.8
TOTAL 241 219.2 TOTAL 7 L 221.8 TOTAL ] ivd 222.2
SJIREZERES TTSD F—LSMYH
K4 ouT IN [ eross | HD NET K4 ouT IN | cross | HD NET K4 ouT IN [ eross | HD NET
O| #BR &M 49 46 95 (19.2 |75.8| |O| E&T {£A8| 41 36 17 13.6 [73.4( |O 4B #¥H 52 51 | 103 |26.4 [ 76.6
O #AX MR 42 45 87 |18.4 178.6| |O it L] 44 41 86 |12.0 | 73 O| #W &R 41 44 85 (10.8 | 74.2
#FH % 45 46 91 |10.8 [80.2( (O H% F— 40 43 83 9.6 |73.4 K& HE 48 59 | 107 |21.6 [ 85.4
Ol &% ;28 51 54 | 105 |33.6 [ 71.4 WRHEH RE& 51 41 92 (16.8 [75.2| |O| =)l IE&A 46 47 93 (14.4 | 78.6
TOTAL 1241 225.8 TOTAL Afsf 219.8 TOTAL 2045t 229.4
FILINET INEFR | J—d—a—4%
K4 ouT IN | eross | HD | NET K4 ouT IN | eross | HD | NET K4 ouT IN | eross | HD | NET
O K+ XXBR 41 42 83 (4.8 |78.2]| |O /¥ E= 43 43 86 (14.4 [71.6]| [O EII BH&E 46 51 97 119.2 | 71.8
O ##& KB 52 52 | 104 |124.0 [ 80 o M& &L 41 40 81 |7.2 [73.8] [O| iIm F&H 47 49 96 (20.4 |75.6
O &% =7 52 54 | 106 (25.2 [80.8| [Of /¥ A= 38 37 75 (1.2 |173.8 INE BFE 46 o1 97 (14.4182.6
FIER &1 59 64 | 123 |136.0 | 87 O #FHESRHS 42 47 89 (13.2]75.8
TOTAL BB 239 TOTAL 34z 219.2 TOTAL 1961 229.2
EHZ oy X HREhB E2EHUNR>TCEENE 202 1
K4 OUT | IN [ eross [ HD | NET K4 OUT | IN | eross [ HD | NET K4 OUT | IN [ GROSS| HD NET
KAl X% 45 44 89 (10.8 |78.2| |O f&E xNE 50 51 | 101 |25.2 [75.8| |O| #fE - 47 42 89 (13.2]75.8
O HwH MHF 42 47 89 (13.2175.8( |O & gE 57 46 | 103 [24.0 | 79 O mH#H X#t 47 48 95 (20.4 |74.6
O LtH=EFHK 47 51 98 (22.8 |75.2| |O &I HRE 48 48 96 [18.0 | 78 % Eipd 60 54 | 114 |28.8 [ 85.2
Ol fRHE =0 42 41 83 [9.6 |73.4 O FrE BF 61 47 | 108 [28.8 | 79.2
TOTAL 106z 224.4 TOTAL 2741 232.8 TOTAL 2141 229. 6




F—LRER FE5HD2F—LA SSTT
K4 OUT | IN |[Gross| HD | NET K4 OUT | IN |[GRoss| HD | NET K4 OUT | IN [ eross | HD | NET
O #K HA 46 57 | 103 |124.0 | 79 O fHAER 43 | 42 | 85 (10.8 |74.2]| |O| mH = 52 61 | 113 |31.2 [81.8
O %= EA 52 | 47 99 |24.0 | 75 O RH# =BF 52 52 [ 104 |28.8 | 75.2| |O] HE E= 53 59 | 112 |136.0 | 76
O &R E— 52 52 | 104 |125.2 | 78.8 mH EL 51 44 | 95 [13.2 (81.8]| |O SF HHE 51 53 | 104 |126.4 [ 77.6
#7E  EE 50 | 59 | 109 (26.4 |82.6| |O HAH=FE 50 | 46 | 96 (19.2 |76.8 AT Z=H# 56 61 | 117 |32.4 [ 84.6
TOTAL 2541 232.8 TOTAL 14461 226. 2 TOTAL 2941 235.4
HELPLWVWEFHALETILIH TJ)L A BB H&K/INEJLR
K4 ouT IN | cross [ HD | NET K4 out IN | eross | HD | NET K4 ouT IN | cross [ HD | NET
O # B& b5 | 49 | 104 (22.8 | 81.2 Rk BE 50 | 57 | 107 |25.2 |81.8| |O| KT =& 41 37 18 |13.6 |74.4
Ol FA& F5h 57 57 | 114 |136.0 | 78 O #HFE EHF b2 | 45 97 [21.6 [75.4| |O ERE M= 45 | 46 91 (13.2|77.8
B 50 | 47 97 113.2 183.8| [O kKM XE# 45 53 98 (18.0 | 80 Ol EN &7 55 56 | 111 |31.2 [79.8
O ™% & 49 | 47 96 |19.2 [76.8( (O H% ®iE 43 | 43 86 (9.6 |76.4 FHE -t 56 53 | 109 |27.6 [ 81.4
TOTAL 304s% 236 TOTAL 2341 231.8 TOTAL 2441 232
HEBLPAX F—AL €I5 EEEBLPAT—TF
K4 ouT IN [ cross [ HD | NET K4 ouT IN | cross | HD | NET K4 ouT IN | cross [ HD | NET
O =t 173 40 | 45 85 (8.4 |76.6| |Of #HZE LA 41 45 86 (8.4 [77.6]| |O| BEH=HA 48 | 41 89 |15.6 | 73.4
O %I EZ 41 50 91 (12.0| 79 O BEH AFH 46 | 45 91 [9.6 [81.4]| |O =% & 39 | 42 81 |6.0 | 75
O ¥EB=8FF 51 43 94 (19.2 | 74.8| |O #&EERE —F 42 38 | 80 (4.8 |75.2| [O] &H ZFi#E 35 | 43 18 2.4 |75.6
i E— 66 51 | 117 |33.6 | 83.4 AR ZREH 54 | 55 | 109 |27.6 |81.4 FREIBY 46 | 47 93 [13.2179.8
TOTAL 2241 230.4 TOTAL 2841 234.2 TOTAL 9 224
EREAHLLBRMBLLET BmhE T BFEPIWEHPREITE
K4 OUT | IN [ eross [ HD | NET K4 OUT | IN | eross [ HD | NET K& OUT | IN [ GRoSS| HD NET
O ®H —1f& 43 | 40 83 6.0 | 77 O ®H# %E 39 | 44 | 83 (8.4 |74.6]| |O dFH I®/F 39 | 41 80 |6.0 | 74
")l R 49 | 49 98 [20.4 |77.6| |[O =k i 46 | 41 87 [10.8 [76.2| |O| €& #EE 45 | 45 90 |13.2]76.8
Ol MmHE E— 43 | 45 88 [13.2 |74.8| [O 4dA FI— 4 | 4 85 (8.4 |76.6 LH &EF 47 | 48 95 (18.0 | 77
O| ihHE #sh 47 | 46 93 (19.2 |73.8 o & i3 46 | 42 88 [12.0 | 76
TOTAL 11462 225. 6 TOTAL 16462 221.4 TOTAL 15461 226. 8




F—.L B FEAIE JILTJKFE
K4 OUT | IN [Gross| HD | NET K4 OUT | IN |[Gross| HD | NET K4 OUT | IN |[GROSS| HD | NET
O| dtir ik 43 | 45 | 88 |14.4 |73.6| |O HE &— 45 | 47 | 92 (15.6 |76.4| |O| #&lR =4 43 | 44 | 87 (12.0| 75
O 2Z/A JlF 41 48 | 89 [13.2 [75.8 BaH A 41 50 | 91 | 7.2 (83.8 BB T H 48 | 47 | 95 (18.0 | 77
&5 1&E 50 | 44 | 94 (12.0 | 82 QO E¥ BZ 49 | 48 | 97 |15.6 |81.4| [O =#ZEF 41 40 | 81 [7.2 [73.8
O #H -3 45 | 40 | 85 (8.4 |76.6| |O H™MA FX 57 | 48 | 105 [30.0 | 75 O| itk IEF 43 | 41 84 |15.6 | 68.4
TOTAL 134 226 TOTAL 2641 232.8 TOTAL =i 2117.2
A7y F—L C F—L2O T47F
K& OUT | IN |[@Gross| HD | NET K4 OUT | IN |[GrRoss| HD | NET K4 OUT | IN |[@eross| HD | NET
O /M HE 53 | 49 | 102 [30.0 | 72 O =€H EF 44 | 52 | 96 [15.6 |80.4| |O| #&H»& B3k 44 | 45 | 89 (12.0 | 77
=it R 43 | 42 | 85 [9.6 |75.4| |O £HEK#HKLF 63 | 66 | 129 |36.0 [ 93 Ol %=H wM=E 45 | 42 | 87 (12.0| 75
O &% ¥mH 45 | 50 | 95 [21.6 | 73.4 £H B 61 69 | 130 |136.0 | 94 O| #Ek & 40 | 41 81 |4.8 |76.2
O HnWE FH— 39 | 44 | 83 (8.4 |74.6| |O =) i 45 | 48 | 93 [15.6 | 77.4 INT[RE B 42 | 42 | 84 (4.8 |79.2
TOTAL 561 220 TOTAL 3241 250. 8 TOTAL 1861 228.2
F—L K&Y RhWEITILII5T
K4 ouT IN | Gross | HD | NET K4 ouT IN | Gross | HD | NET
hE Es 39 | 44 | 83 [7.2 |75.8]| |O ¥ TE 49 | 47 | 96 [16.8 | 79.2
O &M &A 39 | 40 | 79 [3.6 |75.4 BEIR 2=l 57 | 52 | 109 (25.2 | 83.8
Ol MA MBE 49 | 42 | 91 (18.0 | 73 O #)l 1§13 40 | 40 | 80 (6.0 | 74
O w&H FAF— 41 44 | 85 (12.0| 73 O K EX 46 | 50 | 96 [21.6 |74.4
TOTAL 6L 221. 4 TOTAL 17462 227.6




